50

VM-200

TYPE RUBBER MOUNT (HZ#¢2| : 6.0mm)

HiEel §4
VM-2000 OFRE = CHEWEoR dilish= TISS S0[6H| Mo - s #EI7|o|ck
LR E BHesh 2RUS B + QTS Yoo 122 HEEof QICH 120HRE
FY U0z Anst DHHE LEE0 10 FH0l= Hietofl A0Sk DEHE
UCE AL E2{0|EZ HE=|ACE
HZe 8=
- M8, ASAHE AT YT
A8 YHEY|, WA O|X| oA WEIE
AU HIYTE
(A BN ER|, £37| UTE
<726, ZEEH|, AZIISEH YTE
HZel 32 Y

No. = T B / f/%/t-\\@\\ .,

1 Non Skid Pad CR KS M 6617 Sees \@)j, T e

2 Lower Housing SS 400 KS D 3503 . \@ = y/

3 Body CR KS M 6617 NG

4 Upper Housing SS 400 KS D 3503

5 Level Bolt S5 400 KS B 1002 .
M| =

il |
—=
[ CEEE
o=l |
U leees | &
Mol - W00 penie
Wi e §|=u @ (ZERIBm
=4 [E= =z | e %‘
BEE =
S| UL HMT 2 57| U HM=
DIMENSION & SELECTION GUIDE BY LOADS
Tvoe Ha25E o Ao =pT] Dimension(mm)

P (kg (mm) (H) (K A B c D E H  LevelBolt
VM-2070 100 0.34 112 90 7 15 11 40 M12 x 65
VM-2080 300 0.73 135 110 90 17 13 46 M12 x 65
VM-2100 500 6 605 122 164 135 105 21 16 50 M16 x 80
VM-2120 1000 1.56 190 161 128 21 16 55 M16 x 80
VM-2150 1500 2.18 228 193 159 21 16 66 M16 x 80

(NOTE) 2 2] % Xl== HIZe| s U EEMIS 2fsH ARH o glo] 1 2 4 2laLct



